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gcc rk-0517c.c -1gsl -1m
./a.out
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#include <stdio.h>
#include <math.h>
#include <gsl/gsl_errno.h>
#include <gsl/gsl_matrix.h>
#include <gsl/gsl_odeiv.h>
int func (double x, const double yI[],
double f[], void *params) {
£[0] = yl[1];
£[1] = -y[0]-sin(x/3.0);
return GSL_SUCCESS;
}
int main (void)
{/* rank 2 DHBRREM ATy T LK */
const gsl_odeiv_step_type *T = gsl_odeiv_step_rk4;
gsl_odeiv_step *s = gsl_odeiv_step_alloc(T, 2);
/% BATY TIZBOWTHOM y_i(t) 20T 2-ELMNEE Le-6
X3 1e-5 OWPHNIZHIZ 2 &SR T v THEBEEE LR */
gsl_odeiv_control *c
= gsl_odeiv_control_y_new(le-6, le-5);

/* rank 2 OHERD 7D DORMBBDOER */
gsl_odeiv_evolve *e = gsl_odeiv_evolve_alloc(2);
gsl_odeiv_system sys = {func, NULL, 2, NULL};

/* x : start, xl1 : goal */
double x, x1 = 10.0;
double h = 1e-6; /* AT Y TIROGLMHE =/
double y[2];
x = 0.0;
y[01=1.0; y[11=0.0; /% y OHIHME */
while (x < x1) {
int status
=gsl_odeiv_evolve_apply(e, c, s,&sys, &x, x1, &h, y);
if (status !'= GSL_SUCCESS) break;
printf ("x=%.5e, y[0]=%.5e, h=Ylg\n", x, y[0],h);
}
gsl_odeiv_evolve_free(e);
gsl_odeiv_control_free(c);
gsl_odeiv_step_free(s);
return O;

}
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